
1

Second	Term	Test	-	2024

.Ks;h I
Mathematics	I

10 fY%aKsh 
Grade	10

ld,h :	meh	02  
Time	:	02	hours

2024/Grade	10/Second	Term	Test/Mathematics	I

B/Vishaka Balika Madya maha Vidyalay-Bandarawela.



01.  Sithum received Rs. 33  as the balance  from  Rs. 200 note, after buying three pencils and 

one book which cost Rs. 92. Find the cost of a pencil.

/1 /   / 2/ /02. Simplify : -   2-xx	- 2

2
03. If the area of the triangle ABC  is  36cm  , find the length of the side AB. 

3  5  2  / / /04. Simplify  : - of
7 7 5

05. In the collection of  data   6, 3, 7, 8, 9, 4, 3, 8,  3,  5, 10, ......     find, 

	 (i)  mode

	 (ii)median

06. Food is sufficient  for 10 students  for 8 days  in a hostel. If two students had to leave the 

hostel due to illness, for how many days will the food be sufficient for remained students ?

2207. Find the least common multiple  of the two algebraic expressions x  -1  and (x+1)  

 

08. Using the information  given in the figure, 
 find the  values of	x. 
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209.  Solve  :x -5x=0 

10. What  is the profit percentage obtained  when a commodity  bought for Rs. 2000 and sold 

for Rs. 2500?

11.	 A sketch  of a  hollow prism is formed  by folding  a cardboard strip is shown in the figure.

 (i)  What is the length of the cardboard strip ?

 (ii) Find the outer surface area of the  prism.

12. A coins  is tossed once.

 (i) Write the Sample space  S= {                                                                        }

 (ii) Find the probability of  “occurring tail upward”?

13.  	Using the information  given in the figure, 

 find the  values of	x and y.

14. What is the time will  be taken by a Tap which flows water at a rate 40	litres	per	minutes, to 

fill an empty tank of capacity 2000 litres	 completely.

15.	 e={Students of the grade 10  classes}

	 A={Girls}

	 B={Students in Grade 10 who do music}

 Express the shaded part in set notation and 

describe in words.
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16. AX is the bisector of the BAC  

 (i)  Find the value of x	

	 (ii) What is the relationship can be identified 

    between AB and AC

17. In the straight line  y = 2x + 3 , find

 (i) the gradient

 (ii) the coordinate of intersection point at y-axis of the line.

18. ABCD  is a rhombus. find the value of  x and y.

19. The following is a note written by a student to prove ABC	

and PQR	 are congruent 

 Fill the blanks.

	 							    In the triangle 	ABC		and PQR	

 	 	 PR =BC
^ ^           PRQ =	CBA

         ...............=................

																					ABC	D		º		PQR	D	(.....................................)

20. If OX= 8cm and the length of 	AB	is 30cm, of the circle centre 

O. Find the length of  AX.

21.  Make the subject n of the formulae T	=	a + (n-1)d  
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22. According to the information in the diagram, 

 find the value of  c

2 23. A sketch  of a  graph in the form of y = ax +c  is shown in the figure.

 According to the graph,

 (i)			Find  the value of c 

 (ii) Express the behavior of the graph in the range  -2 <	x < 0  

24. A, B and  C are three points on the circle with centre O. According to the information in the 

diagram find the 
^ (i)     AOB	 =

^ (i)     CAB	 =

25. AB and	 	 BC are two boundaries of a plot of land. A light post should be erected 

equidistance from  AB and BC and  5cm apart from the BC. Draw a sketch of the 

construction lines that are necessary to find the location of the post.
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1/01. In a till, of  the total number coins  were  2 rupees coins. And the other  remained coins 
5

3/were  5 rupee coins and 10 rupee coins.  Out of the 5rupee and 10 rupee coins    were 5 
8

rupees coins

 (i)  What  is the fraction of the  5 rupee and 10 rupees of the total number of coins ?

 (ii) What  is the fraction of the   10 rupees of the total number of coins ?

 (iii) State the ratio of the  number of  2, 5 and 10 rupees coins  in simplest form 

 (iv) If there were  400 coins in the till, what is the values of  the  10 rupee coins ?

02. A vehicle park made up  of a semi circular	sector and trapezium  shape part ABCD is shown 

in the  figure

 (i)      Find  the length of the arc  BC

 (ii)    Find the perimeter of the park.

 (iii)    Find the  area of the  semi circular   part of  the park.

 (iv) Calculate the area of the vehicle park.

 (v) It has been estimated  that 14 mandays will required to lay concrete to the park. 

Calculate  the number of days  will  taken by  one  man  to lay  concrete  in an area of 
261m plot of land.

6
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Answer	all	the	questions	on	this	paper	only.
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03. The pie chart given in the figure shows how a 

certain  group of students in Grade 10 classes, 

selected their  favorite games.

 (i)  What  game is the favorite of  the least number of students.

 (ii)  If  36 students like  net ball most,  

   what is the total number of students in the group?

 (iii) Find the number of students who like  Foot ball most.

 (iv) If 12 students who select  foot ball, selected netball last. then what is the magnitude of 

the angle at the centre of the sector which represents the net ball ? 

04.  (a) If 	Rs. 500 has to be paid quarterly by the owner of the house assessed  for 	Rs. 40 000 

for a year which lies  within  the limits of a certain  rural council. 

   (i)  What  is the assessment rate which should be paid for a year?

   (ii) What is the percentage that rural council charges as rates  annually ?

   (iii) If  10% discount is allowed  when total taxes are paid as  one installment in the 

beginning of the year, what is the total tax which should be paid with the 

discount ?
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 (b) A Television worth Rs. 60 000 can be bought  with 3 installment without an interest.

   (i)     If 18% of the value of the Television is charged as  VAT , what is the total amount 

which should be paid for Television?

   (ii)   What is the value of an installment ?

05.(a) In  a bag there are 3 mango flavored toffees and 5 wood apple flavored foffees which are 

in same size and shape. A toffee is drawn randomly from the bag by Sadun.

  (i) Write the Sample space(S) of all the possible outcomes of this experiment.

  (ii) Find the probability  of drawing  a mango flavored  toffee.

 

  (iii) Find the probability  of not drawing  mango flavored  toffee. 

 (b)  The table represents the information about the number of employees of a particular 

Government office. According  to the information given in the table find the 

probabilities  of  a selected employee be a 

   (i) female officer

   (ii) a male clerk 

 

nd2024/Grade	10/2 	Term	Test/Mathematics	I

Officer

Clerk

FemaleMale

5 8

32 58

B/Vishaka Balika Madya maha Vidyalay-Bandarawela.



01. l=<S r:hla  Èk 50 l§  .uka l, ÿr ms<sn`oj  f;dr;=re  my; j.=fõ ±lafõ'

 (i) ud;h l=ulao @

 (ii) Èkl§  .uka lrk uOHkHh ÿr fidhkak'

 (iii) bkaOk  1	l lska 10	km  la ÿr hdug  yels kï yd bkaOk 1l la re' 350 la o kï 
udihl§  bkaOk i`oyd  jeh jk  uqo, fidhkak'

 (iv) l=<s  r:h 1 km  hdu i`oyd  re' 60 la wh lrhs kï udihla ;=, §  Tyqg  ,efnk 
wdodhu  fidhkak

202. my; ±lafjkafka  y= x  - 3 m%ia;drh we`oSu i`oyd ilia lrk ,o wiïmQ¾K w.h j.=jls'

 (i) w.h j.=j iïmQ¾K lrkak'

 (ii) x-wCIh Èf.a l=vd 10 lska tall 1 la o y-wCIh Èf.a l=vd fldgq 10 lska tall 2 la o 

ksrEmKh lrñka  by; m%ia;drh we`o olajkak'
 m%ia;drh weiqfrka 

 (iii) iuñ;l wCIfha iólrKh ,shkak'

 (iv) j¾;k ,CIfha LKavdxlh ,shkak'

	 (v) m%ia;drfha  w.h Rkj  jeäjk mrdih ,shkak'

	 (vi) fuu m%ia;drh tall 1 lska  by<g  W;a;drkh l< úg  ,efnk  m%ia;drfha  

iólrKh ,shkak' 

X            -3            -2           -1              0            1             2             3
Y	            6               -2                  -2             1             6-3..............      

Distance	(km)						    25                35                45                55                  65                  75

Number of days      7                 10                15                 8                     6                    4              

Part	A			

Second	Term	Test	-	2024

.Ks;h II
Mathematics	II 10 fY%aKsh 

Grade	10 ld,h :	meh	03  
Time	:	03	hours

1

* Answer	ten	questions	selecting		five	questions	from	part	A	and	five	questions	from	part	B.
* Each	question	carries	10	marks.
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01. The frequency  distribution  containing  information  on the distance traveled  by a taxi.

 (i) What is the mode of the distribution ?

 (ii) Calculate the  mean  distance traveled  in a day,  of the  distribution.

 (iii) If  10km can travel  from  1 litre of fuel which cost Rs. 350, find the expenditure 

for fuel in a month.

 (iv) If Rs. 60 is charged  for a  1km  when it hire to travel a journey, estimate the 

income can  received within a month.

202. An incomplete table prepared to draw the graph of the function y= x  - 3  is given  below. 

 (i) Complete the value table.

 (ii) Using a scale of ten small division as one unit along x-axis and ten small division as  

one unit along the y-axis, draw the graph of the above function.

 Using  the graph

 (iii) Write the equation of the  symmetrical axis of the graph.

 (iv) Writ  the coordinate of  the turning point.

	 (v) Write the  interval of values  of x for which function increasing negatively.

2 (vi) What is the equation of  the graph when graph of the function  y= x  - 3  is shifted 

upward by one unit along the y-axis.

	

English Medium



03. When a vehicle is imported, 40% of its value has to be paid as custom duty.

 (i) If  it costs   20 000 American dollars  to import a vehicle and  the value of  1 American 

dollar   is  Rs. 220, what is that value of the vehicle in rupees. 

 (ii) What is the value of  vehicle  with duty ?

 (iii) If  that person who imported the vehicle,  sells the vehicle  with a profit of 20%, what 

is the profit can be  received ?

 (iv) If the value of a American  dollar  increases  by  10% due to  floating  of the Sri Lankan 

rupee, what is the new imported value of the vehicle ?

04. A, B, C  is a straight road which  lies from South to North. Sagara is at A of this road. He can 
0

see his house with 60   bearing from  A. He walks 40 m ahead to North and comes to the 

point B. From B he sees his house at the East.

 (i) Mark  a rough diagram to show the data above.

 (ii) Draw a scale diagram to above information by representing  10m by 1cm.

 (iii) Using the Scale diagram, find the shortest distance to Sagara’s house from Road.

 (iv) While walks towards the North direction further, at  the point C  the house can be seen 
0with a bearing of 140 . Then what is the distance from the Point	B to the point C. 

05. The area of the PQR  lamina is 60 square units.

2 (i)   Show that  the value of x satisfies the equation  x +6x -112=0. 

 (ii) By solving the above quadratic equation, find the length 

of  the hypotenuse of the triangle PQR to the nearest 

second decimal place.

 

2x+5 3x -1/ / / / / /06. (i) Solve :  + =  4
2 4  	

-234x ´x   / / / / / (ii)  Simplify :  -1  2x

 (iii) Simplify  the simultaneous equations  3x + 2y = -5

  	 	 	 	 	 	 	x  + 4y  = 0 
  

2
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07. 50 iron rods are needed to create a grill  design. The creator cut the first rod  with  4cm 

and thereafter the other 49 iron rods with a length of  3cm longer  than the previous one 

respectively.

 (i) Write the lengths of the initial  4 iron rods he has cut.

 (ii) Find  the general  term of the above  pattern.
th

 (iii) By using  the general  term find the length of the  10  rod.

 (iv) In which  iron rod has the length of  43cm @

 (v) Find the 12th term of the number sequence with  the general term 5-3n

08. Construct the following using the pair of compass and the ruler with the scale cm/mm  

and showing clear lines.
0 0^ ^ (i) Construct the triangle  ABC, such that AB=8cm, 	ABC=45 and  BAC=75 '

 (ii) Construct the perpendicular bisector of the side 	BC and name the intersection of it 

with AB as X. 

 (iii) Construct the locus of the point to the sides  AB and BC and name the intersection 

point of the  that locus with  the perpendicular bisector in part (ii) as Y.

 (iv) Name an equal line segment to BY   and write the theorem that is  used to identify 

an  equal side to	BY '
 

09. (a) If log  3 =	x ,
5

  Write an expression to 	log  75 in terms of x.
5

 (b) In  certain Hotel, there is a  water pool, the length  15.2 meter,  breadth 10 meter. Ii 

is filled with water to a height of 208 centimeters. Find  the volume of water in the 

pool, only using the logarithm table.

10. (a) ACB	is a straight line.
^ ^ ^ ^  If ACD =2DCE and FCB =2 ECF ,

^  find the magnitude of  DCF

 (b) PQRis a traingle. The perpendicular drawn to PR at P meet the bisector of the angle	
^ ^ ^ ^PRQ  at S. Show that 	PQR + QPR =2PSR .

Part	B	
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11.  O	is a point within the square  ABCD  such that	AOB  is an equilateral triangle. 

 (i) Copy the diagram to the answer script and mark 

the data in it.

 (ii) Show that ‘‘BOC is an Isosceles triangle’’

 (iii) Show that	AOD D º	BOC  D.
^ (iv) Find the magnitude of DOC.  

12. (a) There are 46 students in  Grade 10 class. Out of them 27 are girls and  22 girls have 

taken more 40 marks to  Mathematics subject. And there 15 boys who have taken 

more than 40 marks for Mathematics.

  (i) Represent above information in a Venn diagram.

  (ii) Shade the region which  represents  the girls who have taken 40 marks or less 

than  40 marks for Mathematics.

  (iii) What is the probability of   selected student be a boy who has taken 40 marks 

or less than 40 marks. 

(b) e  =  {3, 6, 9, 12, 15, 18, 21, 24, 27, 30}

 	 A			=  {6, 12, 18, 24, 30)

 	 B   =  { 9, 18, 27 }

  Regarding the above information, 

  Verify the n(AÈB) =n(A) + n(B) -  n(AÇB) 

42024/Grade	10/Second	Term	Test/Mathematics	II



https://lol.lk/

	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4

